From Linjing

(sé‘ Problem :

We assume SDE Y'=A)Y , where Axxa is a Teat matrix., and
A,M Mér/ one repewted egenwwue 2 weth ony one L;‘nearérj Jhd?&dw
ejawector vV and o generalized. eigenvector U SabiS£.9ing CA-2I)uU=V.

Show that (Y= (¥ +u) 8 i a sblwbion,tr‘jﬁ,qy.

£ ¥ Prozi]t.-

First, on the left,

D= 1V +0).87 + (t0+ W) -2 &7
= (V+20t+30) 07
Since 1¥is an &igenvectoy ctf A, Ap=2D1.

Thus, N'= C AVt + B +2u)-8™

On the ‘Ytyht,
A)= Actr+u) ™
= (A¥.t + Au)-8>°
Since W is ajenercuizeo(, eyenuectoy o\f A,
A-2T)u=V
= Au- ou =V
= Au=V+2u
Thus, AY=CABE+ U+ Iu)e” = '
Hence,

= (tv+ wy-8”is a solution 36 J'=Ay.m®



